


1914 100744 9] A5 Theat 2ol A Al Aol 44 %
A2 Sol ottt
(1,2, 3), (2,3, 4), (3,4,5), -, (98, 99, 100)

wh, A %] ol 21 9] W49l e B B Fgelx) F5h?

A

O 12 @ 13 ® 14 @ 15 ® 16



3. 7500 /B @ A AAS x 2 FrolA o]l A4 y o] Aol

@1 @ 3 ® 5 @ 9 ® 15



4.

60 x 28 x x 7} o @ Aei%=o] A|Fo]
ahe Fotoler

D
=%



5. 588 %588 HTk A A% o 2 hrglEy ko] A4 §49)

A% b 7} Flet. V5 b o gte] e Patolat.

D R
=%



315 o) 2Akd-E H3te] oH

YIS 5] oA Fohe 4+ 5 2 WAR e S0k A WA Ze

g Fopolet,

5 L
=%
D

=%

220 Al Fol HwE shel 2 gk, AFol



120 of A4 x

it
S [e)
&% x ol gl B 4 gl ALY

245 o] 57 shel

D 2x3x5

@ 23%x3x5 ® 2x33x5
@ 2x3x5xT7? ® 2°x3x5

o



r

sto] of @ Ahei40] AlFo] WA shel

18 o A AAFE F
5 ZAEH 371 H=t

gt ofmf sfjo

_,f
ok
>
e
>
it
N

N
)
Mo



9. 16xA2] k5ol A%7E 10 ALY W, A 2] 7k FoIA T AL 52
Tsfofet,

D
=%



10. 27x[ | ool Agrt 12709 7V e Aok [

et Soiz 7Py Ze Aasr

@ 2 @ 22 ® 23 @ 3 ® 32



11. Al 4 22x33x5, 22x3x52, 23x32x7 9] 49 /45 Fotofet.

B e A



12, 5 A4 22 x 82 x5, 2x 3 x 7 O] BY50] |4

® 4 @ 571 @ 671 @ 770 ® 871



13.

602 P 47} EL 8 2 LR 6 o] B, 9 2 LR 7 0]
A% Fo1A 400 ol 7V e 58 Fotofet,

D
=%

1}
o

rr



14. 12 2 UY¥oZ 10l g1, 16 2 U5 & 1 o] §&= AAS4 = 100
Hro} zhe e 4E=?

@® 48,96 @ 48,97 ® 49,97 @ 50,96 ® 50,97



15. 100 58 300 7kA] 9] ZAA s FollA 3, 4 F ojE =T o] Hof
A A G= o Aes B E QIR

® 67 @ 99 @ 100 @ 101 ® 200



16. 100 olshe] A4 % 5.9] Hj4=0] AL} 7 9] W49l A 9] %=

@ 31 7W @ 32 7 @ 3371 @ 34 71 ® 3571



